














Use the following diagram to answer question 8.

S (f:thl O-9m

i e
wgn

w9

0.9 m

9% m

8. Rounded to the nearest tenth of a square metre, what is the area of the wall shown
above, not including the area of the windows and the door?

a24.18 m#*
}Ma}: 64-3)( 2~{°)m2: :
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Numerical Response

n In his toolbox, a construction worker has twice as many screwdrivers as wrenches, -
and 5 fewer hammers than wrenches. If he has 19 tools in his toolbox, then the
number of wrenches in his toolbox is

(Record your answer in the numerical-response section on the answer sheet.)
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Use the following information to answer question 9.

Simone works in a restaurant four hours a day for three days a week. She
carns $9.50 per hour, plus tips.

9. /Whi@ue following expressions represents Simone’s earnings in dollar@

eek, E, where ¢ represents the total amount of tips she carns that week?

A.  E=4(9.50+1) Ihih — = Ji&&
B, E-409.50)+1 Gocki dog —> 4 (7.50) XS days

E =12(9.50 + #)

C.
B E=1209.50)+1

P
Z hevors

Use the following information to answer question 10.

A square playground is being enlarged. One side of the original square
playground is being increased by 12 m. The other side is being increased

by 8 m.
ke, =2 23 s
o 12 1w
Original

) O *Tplayground T

10.  Ifx =10 m, then the total area of the playground when it is enlarged will be

B. 196m’ /442(&: Exwd=
D. 96m? (10+L2\m X_/(\_?’ié)’m

22 m x \&m :;:/
490
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11.

12.

13.

14.

A warm-up pool contains 96 m® of water. Each day, 0.03 of chlorine is added
to the pooor every litre of water in it. Given that I m>= 1 000 L, the amount of

A.

B. 30 mL
C. 2880mL
D. 96000 mL

If x=2and y =3, then 2x*)3 — 0x30 is equal to

- Z2) (33 G 225°
@ 792 / P 2 b L_P 4
5 o 27 =
D. 424 Z Py
/2‘}6'2;)—‘ (4‘801):_ 66!.{_:7,2)
Item not released. _ 792)

—_

Pierre’s class and Corissa’s class have the same ratio of boys to girls. Pierre’s class
has 18 boys and 12 girls. If Corissa’s class has 15 boys, then how many girls are in

Corissa’s class? | 25 R d\/ l @
. 6 o —) b j.S
B s PR
- 5 . >
@© 10 C.orsSSo0 > = 45
D. 15 15 s
Xz (5 p-3

o0
(B\_Lg_ [ P __LS—-

&z - Yo
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Use the following information to answer numerical-response question 2.

The following charts show average temperatures for each month in four locations.

Chart 1

Month (x) Jan | Feb | Mar | Apr | May | Jun | Jul | Aug | Sep | Oct | Nov | Dec

Temperature °C (y) | 4.5\ -11.4 | -20.5 | 24.0 | -25.6 | -26.0 | -28.3 | —29.7 | —28.1 | 213 | -11.4 4.8

\ Chart 2 2

Month (x) Jan | Feb\| Mar | Apr | May | Jun | Jul | Aug §/ep Oct | Nov | Dec
Temperature °C ()| 9.8 | 114 3:00] 1541 172 | 178 | 173 15.2//13,5 122 | 10.2 | 85
\ Chart 3 /
/
Month (x) Jan | Feb | Mar |\ Apr | May | Jun | Jul /| Aug | Sep | Oct | Nov | Dec

Temperature °C ()| —18.4 | -154| —10

Month (x) Jan | Feb | Mar Aug | Sep | Oct | Nov | Dec

Temperature °C (p)| 29 23 19 16 18 21 24 28

P.

Monthly Temperatures Meonthly Temperatures

.\v'
4

Monthly Temperatures
.v
3

Y

13




Numerical Response

Match each of the numbisbfthe charts on the

15.

ious page with the letter of the

graph that best represents the information i

~

Chart:

Graph: P / R S

(Record all four digits of your answer in the numerical-response section on the answer sheet.)

Use the following scatter plot to answer question 15.

A

Sas .
Migh, :

> (2l

The information displayed in the scatter plot could represent which of the following

relationships?
2 Galories (odld, (Nereant

A.  The distance a person runs versus the number of calories that he or she burns

B.  The number of hours a person works versus the money that he or she is paid (€95 F "’—/j
The number of minutes a candle is lit versus the height of the candle

D.  The distance a car travels versus the speed of the car -57

Ve
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Use the following information to answer question 16.

\Q%B

Packing tape is stored in a rectangular box with a clear lid, as shown below.

Top View of Box 20,02

"3@”’05. =

The circumference of a circle is C = td.

16.  If the circumference of each roll of tape is 31.5 cm, then the perimeter of the clear
lid of the box, to the nearest tenth of a centimetre, is

A. 189.0cm
@ 100.3 cm
C. 60.2 cm
D. 50.2 cm

dgad\) - o
)00. 24 L ol -

17.  If the angles of a triangle have a ratio of 1:2:6, then the measure of the largest

angle is

A 200
B 400

120° —=>
. 140°

So

2

Loto

6% & ﬁ
( 120 = o= 20
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18.

Tiarra earns $8.50/h at her part-time job. Which of the following graphs shows the

relationship between the number of hours that she works and the amount of money
that she earns?

19.

Earnings ($)

@,

Earnings ($)

Earnings ($)

Y

Time worked (h)

X

Earnings ($)

v

Time worked (h)

¢ A <0

Time worked (h)

A DVD player is advertised for 20% off the regular price of $119.99. What is the

final cost of the DVD player after 7% GST is applied?

Q7>

$108.31
$106.99
$104.39

Eoge 1999 = (1.9
204+ I.§ 11§ =289

$102.71 Q”ﬂ?;'(ﬂ%f) = 6?(0 ALia F3e 1023,
%. 19 (0.09 %) = &7

A2

16









23.  Kassidy has been hired to survey people in her town to determine if a new
swimming pool should be built. The most representative sample for Kassidy
to use for the survey is a random sample from

community members ‘
B. students of the local school < CR%. Nap@ewd o] G- Ve

the town’s business owners

C.
)( members of the local diving club /64,

Use the following information to answer question 24.

Ali plays basketball on Monday, Tuesday, Wednesday, and Thursday. She
plays basketball for 42 minutes on Monday, 32 minutes on Tuesday, and 50
minutes on Wednesday.

24.  If the average number of minutes that Ali played basketball from Monday to
Thursday was 45 minutes, then how many minutes did she play basketball on

Thursday?
g Mon — 4920

56 TUes — 29D
B. 42
C. 4l e — SO
D. 31

o432+ SO0 T _ 4N
T R
WJ:-‘SO‘\‘? =4y
b‘

\ZL‘H'? = (”5
' :
?’, @’5549) —)Zl_f

7’: ( AO— V24

7. S0
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Use the following scatter plot to answer question 25.

Data Recorded by Members of a Running Club

(T R N
ol L ¥
EEer
7.- : H
64—
5

Distance run (km)

T l 1 I d L] T . l - i 1
0 10 20 30 40 350 60 70 80 90
Time (min)

25.  Which of the following conclusions can be made based on the above data?

)( The farther a person runs, the faster that person is able to run.

} The harder a person trains, the faster that person is able to run.

& The more times a person runs, the longer the race that person can run.
@ The longer the time a person runs, the farther that person is able to run.

26.  Kim and Jan scored a total of 234 points in a game. Jan scored 10 more points than

Kim. IfKim’s score is represented by x, then an equation that represents the total
points scored by Kim and Jan is

K p-l0=7054 |
x+10=234 I+ = 2349 §

B.
B 2x-10=234 T4+ X G Z?L{ ZEhd
O 2x+10=234 B £x+10
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Use the following information to answer question 29.

A rectangle and its dimensions are shown below.

P21 S

29.  The expression that represents the perimeter of the rectangle is

A, (3x*+5x+5m /Z&W,@fe{ e X+ 2x*42X+5 +2 %
B. (6x*+7x+10)m + 3X2 20 +5
62 +10x+10)m  five te:
D. (12x*>+2x+5)m 22 | 221 BB F2N AN L Sy
e N R i

Petamerens [bx2__+ 10x 4 10\

Use the following information to answer question 30.

Two boxes are stacked and tied together with rope. The length of the rope
from the top of the box labelled BOOKS to the top of the box labelled
PICTURES is 25 cm and forms an angle of elevation of 53°, as shown below.

- PICTURES

30. What is the width, w, to the nearest centimetre, of the box labelled BOOKS?

s e v e o s <15
W

70 cm ;
90 cm '\‘H\Q‘\J’ VAQ, L()Y.J}/\J ]
5 sYo + 15 = FO o

oQ = »
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Use the following information to answer question 31.

The sides of a particular triangle measure

B, ¢
* 3x—1)cm 25k Lo
*(x+3)cm

* (x)ecm A

31.  If the perimeter of the triangle is 66 cm, then the length of the shortest side of the
triangle is
@~ 4 (x+3) +¢

b =
@ 12.8 cm b = Bx -l +x +2> +X
B. 13.6cm bb = ABX+XFX ~| +2
C. 374cm b = BX %L
D. 386cm 5x = =2 => sx= &4
"YV\
Y= L4 ., e o
5 Y
32.  If the perimeter of a rectangle is 32 cm, then the dimensions that would give the
greatest possible area are
A. lcmby15cm ! ’ .
‘ | ‘J Ferimere, = 22
@ I cmby 31 cm |

-

C. 8cmby8c

D 16cml))’yl6nz:m ) s /5 e 2‘/) %p%
' AZa = B e 2-

BB = b i~
Aea = o 1 = 386 cm2

}

s
\k{j"o 1S neT = ﬁéd—q%
\b

8] g js ot e ﬂeoﬁ'@@
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Use the following information to answer question 33.

Each small square below has an area of 16 cm?.
Y 4 44y d oy —> UToog

L’
Ll
L’
J
33.  What is the perimeter of the entire rectangle? |2
23 +2.8
12 r = R e ol
::ﬁ o e av4+54¢
cm
= 95

84 cm

A.
B.
C.

@ 0cm

Use the following diagram to answer numerical-response question 4.

A

73

oy—5.0 m——s

Numerical Response

If AABCand A EDC are similar triangles, then what is the length, to the
nearest tenth of a metre, of segment AE?

(Record your answer in the numerical-response section on the answer sheet.)

_ \ma)1.3)

§o L . 2.5 -»> AC = (5-0
Goo  Ac A= %i:%.a



Use the following information to answer question 34.

A mover places a cylindrical container on a dolly, as shown below.

The angle of elevation, 6, from the base of the do y to the ground, to the nearest
tenth of a degree /is

Tow >
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36.  Which of the following number lines represents the solution to the inequality
4x — 12> 8x + 4 when x is a rational number?

e Kz
g + + + L o sl
-1 0 1 2 3 4 5 6 i 8 9
" b B |
D O
-1 0 | 2 3 4 5 6 7 8

+ + e

9

x&Y
C.

g e E— ; ¥ 3 o

-9 -8 -7 =6 -5 -4 =3 -2 -] 0 |

@ X <-4

(-f/}<1 | + + » — e

-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1

— 37.  Which of the following numbers is an irrational number?
Roa skl faon | Y
e _ -
QB 1 1 .0.0625 X 12 > Y+

Y2,
@ 3.142... u
R.D. 0523 —Y-12 > Bx-4X
_((o > qX» ——%c > e
JRronal nuwdses LA ]
L) Non - Qgpca/tlir) \ o

non ~ *foﬁmfna&y

=
Ay ciyral S @

/?qﬁ'ama/ /]o Mé‘”’ef

8 mum&/& Yot can YL wWeilen o mékaﬂ@@ﬂ
= ' o al
. /?.’e/ﬂw’:'j 0 ﬂgrx/zlélhqjg ofe e ral




38.  Expressed in sci

e

ntific notation, the prod

0.000 000 42 x 5 000 000 000 000 is

Use the following information to answer question 39.

A restaurant sells small sandwiches for $3 each and large sandwiches
for $5 each. Last weekend, the restaurant sold 300 sandwiches for a

total of $1 210.

39.  How many small sandwiches did the restaurant sell last weekend?

S:$» L=$s e Sl
A 140
S +L = 300 L 5-150
B. 145 % T B |20 Hhen. L= 180
150 |
Q 155 Sl g = R e Al
&lI50) 50
G e 28 + 55 +|10 = 1210 4so + F50O
22 = 1270—-10 J

Numerical Response

&S = .————*—"‘mo =
o= 1222 /o 150 ] o6

: Brent is 7 years younger than Gail. In 3 years, the sum of their ages will be 83.
What is Brent’s age now?

(Record your answer in the numerical-response section on the answer sheet.)

2 pored

D2

=& ¥
By G = 8&5 E+é

PG -%HE BT

b) 64/'1 =




40.

41.

42.

oy

A gas station gives its customers 5 reward points for every litre of gas that they
purchase. If gas is 75.6¢/L and the total cost of a purchase is $16.18, then the total
number of reward points that the customer will receive, to the nearest 5 points, is

A 80 6.1 — G 1g cents

@) 105 s S o = YLty

C. 325 15'9’ Bt
D. 380 é\(o_@ =461 x 10D c.en"ts/¢ = \L\? cenTs
)b\% orme = RlUp b purctuceny

g_g (. 4O L) s S potnTs~ [OF
There are 125 entry forms in a draw box. If 15 of the entry forms have Alan’s name o

on them, then what is the probability that the first entry form randomly selected
from the draw box will be labelled with Alan’s name?

—

I
A L
B 2 = Y2
8
© %
25
!
p. L

Paul has a bag of candy that contains 6 red candies, 8 blue candies, and

4 green candies. If Paul pulls out 1 candy, then the probability that the candy
will be either red or blue is

YR | lor 1-ae 146 = 38
)
B 3 \Weg 18 9 72;}'; = 4
C. 2
7
9
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43.

Use the following information to answer question 43. /

¥ QR »

: planted tree is supported by arope. The rope is

at a height 0f 0.9 m and to a peg in the ground that is 1.2 m
base of thetree, as shown below. .

¥
419
49°
530

31

a4
attachgd to the tree
way from the




44.

Use the following information to answer question 44.
@

A tent has the shape of a square-based pyramid, as shown below.

Including the base, the surface area of the tent, to the nearest hundredth of a square

metre, is

A. 1536 m?

B. 10.24 m?

C. 7.68m?

D. 1.92m?
=y
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Use the following information to answer numerical-response question 6.

10 cm

The formula for the volume of a square-based pyramid is
V= —;’—(Area of base) (height).

Numerical Response

The volume, to the nearest cubic centimetre, of the square-based pyramid shown

above is D20 cm’.

(Record your answer in the numerical-response section on the answer sheet.)
' / 2

V= 2Ll x16) x D
VI 22 x10 = 220 em=

You have now completed the test.
If you have time, you may wish to check your answers.
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